SUZUKI INTRUDER

125 '99
SOI19SN

‘ ~13 | Fig C

COMPONENTES/ PARTS / COMPOSANTES / EINZELBAUTEILE  COMPONENTI:

Pos. Ref. Cant. Pos. Ref. Cant.
1 H1RC00 | 7 304136 (M6X20 7380) 2
2 260539 (S.R) 1 8 303035(06) 4
3 260540 (S.L) 1 9 302015 (M6) 2
4 303004 (O 8) 4 10 304072 (M8x25 7380) 1
5 304133 (M8X12 7380) 4 11 303704 (O 8) 1
6 260541 1 12 30300« (O 8) 4
13 304072 (M8x25 7380) 4





